B ER LT A

BHEERR
(BEGGRITN —— ERIT RAZE) R 2R (74]5)
T NG - R AR P PR

#7355 - 03303 EXHE ZF - =F/)N\H - +\H

KL TR T AR E R TR HIBTZEBTAIRE (8BTS KX ZPr AR Alggsr i/l ( (LLrdAl) )55 13.25A fFFiH 1768 » WRIEZ B
KL 787 T A SRR L7 TR IR (L i77#A)) 75 10.06(4)(a) f7/Fiti7eEs - RIZIREZE N 5 -

B« TERG
l.
A TS ok st PRy,
P ot - E—EEEER SATEE{ER
TR L HRHREAT S TRIHY FREEETTHE n = s [ [ e R
(E_Iji 6 EZJ;) HR{D %ZI E fﬁ,ﬁﬂ%{%ﬂ%ﬁﬁﬁtt (Ej?l & 7) HRA_‘L[QFE{E ?ﬁuﬁhﬁﬁ@iﬁm&_(gﬁtt)
(AE-I 46 )5—2 7) (EI 5) (EI 7)
I TR 6 728774278
(5t 2) C

201347 H 31 H

GE3) 1,000,000 0.14% 0 (42
2013458 H 9 H, A ,000, 14% HK$0.92 HK$1.77 48.02% (#7:%)

Al G NL GEHERID
A7 A i

220138 H9H, AL
A B AE (EHEBRIM 325,000 0.04% HK$1.06 HK$1.77 40.11% (¥7:E)
A7 e i I

201348 H 28 H, AXK
] — 42 AT 300,000 0.04% HK$0.92 HK$1.72 46.51% (71:%)

A 201348 F 28 H, AR
] — 44 S AT 500,000 0.07% HK$1.06 HK$1.72 38.37% (¥15E)




B ER ST A

iyl

ANiEH]

AT 5 H HA4E BG4S 17
(5 8)
201348 A 28 H

730,899,278

1.

2.

3.

HUAERE -

ERRNT B LA (TR B TR R T » JRLE LRI P TIR -
FHELIRIE (LLTHEIRY) 55 13.25A (ETIZAT L—17 T B HHEERZ ) ZoIRIE (LLHR)) 55 13.25B (RTZAT L—17 " H#E ), (LEREEBHE) 197 Y -
ATV AAIRIE (_LTHRY) 55 13.25N [RIEEHTERITHAZER) - 2R HIRIATR TR - BRI TIHRE - e T e BN - & T LR T A8 " A

B ) PG AR © DI - 2RI A (7 T 1 T TIERR 7 T 525 K FRAE [T — AT PR R AE T THR R ITT 2 KR THIR 7 RS AT 1A — (AR T g
AT > EAITRIE PR 7 F = T TR H BRI R AT BR R A T TR AR TTAEE T THIRT T+ RIS IR 57 el N7V D

AT E L TRITA E BT TIRAZEBIIE T EERF » fFSIRLU L TR T TAME R iR P I E AT E R T TRAGEER (BLUE H AT &1 E7% A% [0 208 o] H 1 R 35 A

1R ) - g P B EZ FTILARF T T ) BT B HRERZ ) 1PEELT -

LR -

HLTFTRITABIR G EZEE - A T _L— S5 H TR ) JEEERET R TFi e B BT E S H B AT TTE )

 TRITRY ) EERER ARG R
T ERTRIE ARG R TEI B CR TR L EERER | EREEIR 15 B R (5T 5 A R TR -

VBT

 TBITRG ) ERERER TR 5 R
» T ERTREHERR R TEIE A CR TR A E L EERER T EAEAR 1 A R AR ET P R TR E A
»  ERBRTIE ) RS RS

HREGE 7 R 73 18—t BB IR A A -



BN R EHETA

A. AR
=5 H LAl oez3: 1eE! fE a5 = TR (ESE A& (DRaREEEL
(#2) = E o) (O29) (o)
it
B. X Ry SR — b T AR MR
1 KENES KRy IE (BT EREREEELIR) TEE 35 P REZ 58 1 H (a)
2. B AR I H HIDURAE 5B 22 5 Pl [EIHY 38 25 A R 35 1 R S 2R B I 3 TR B o %
tb

((a) x 100)

EE TH A
Py - FSCAEIRT IR BAC S P THIRE O EiRER ( Bl AVEEET - MEEXERLSFHIE Eﬁﬂ%ﬁﬁ#ﬁﬁﬁé?@rjﬁﬁ

(E(TERED) - PP - ESCABATIR 55— 583 K S AT THYIB G S8 - BARIE SR RIEZ S5 A AR (B8 AR R HE

\| Z5EERE - SFE TR G ~ 27— K 2m K G G GHTERD) ~ LA LT (B 2 BT T AT T

BBk
(#:4)
it EH

(EE - MEREMETEIERIAR)




